EARAZROREIERT — 2 N—XBISY —F 201957828 () 8EI4£:R2H

mﬂﬁ%—ﬂﬁ B13 [xwl 8 [1memml - | v ) oo mE
[x&4£] 1%:310,000” ~ 2#%&:71,000”  33%&:37,000”  43%&:27,000M .~ 57 :18,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . ae > FFTR :37. -3-2- . — FlIHz (&R
ilalgl e te—y w7 | RET 1(3_7)4 3-32-1 | 39.4 1 32;) e
LY/ Ny THY B:RF—TIEFR Fi5 &
=5,5 # o4 | HEHES 1:37.9 7-6-3-3 [39.6| — 3 519 | BRIk (£R)
205|5|FLTVITI 56.0 2 1/2) (-5) | BEER
L:T7RAOXLTEL B:FLTx% B
= 5 > 6 | KEH 1:38.1 1-1-1-2 | 40.3| — 6 471 | DIEERDER (£3R)
3\ 7|7 FAANTLA - 56.0 (1) (-3) (#%) 77— bEYI3 >
R:vavrhr7 B:RAv—F42V-> EX %Y K
; -7 4 4 | HERE 1:38.4 6-7-6-5 |39.3| — 2 489 | EBER (£R)
sl 2| /7N ARTYT 54.0 A 1/2) ) |WEHE '
R:xA1=ZG7—2 B:I59WT72 89 EVFHT7—L
— N = FRAA :38. —-5-6- . — SEEE (2R
By s | vrFrIT B 7 FE (11318/27) 4-5-6-7 | 39.6 4 ig;t e
L:T772YI7 B:A-T774-> IWE B
£ 3 4 4 | BEEBLA 1:39.1 2-2-3-4 |41.1| — 5 457 | Bk (£R)
6 1 roszay 5.0 @ Gy | 0 77-RhEva
L RKYSIYRIRX B:HLF—an ity FE5A
W o= B 5 | EHBETE 1:39.4 5-4-5-6 | 40.9 | — 7 455 | BASET (£R)
7 N 4 Y HhHYIN=INT 54.?,3 (1 1/2) o) U.IEE;E;E
RYIRG I B:vvhUyIyYI2R [Ealizksecd
o = N 4 | SHIESH — - — — — — | HH#Z (£R)
M - NEEEEE TR B &0 o) o sz
R:tr/0704 BiFy hTHATFI— A pnfe
@ 1—F—@&BIEf
13=zr= 7,1,8,3,4,2,5
2o=7r= 7,1,8,4,3,5,2
30—+— 7,8,(1,5),4,(2,3)
43—+ — 8,7,5,1,2,4,3
[ RN
B OB 8 240M 714K 5-8 210M B E 5-8 470M &R 5-7-8 1,640M
8 B 8 180M 7-8 390M B H 8-5 1,060M K31 8-5-7 6,450
5 150/ 5-7 750M

ABICOVWTRDTEEERROODE. TR LIV,



